q\\tm

&

Australia

US.and g‘
.
Canada ,4’

WE \,Te
gee
N -

N
.@

002807-001

2014 Carryalt 510 and Carryall 710 LSV lllustrated Parts List

Page 10-4



ONBOARD BATTERY CHARGER, HIGH-FREQ. - CA710

ITEM PART NO. DESCRIPTION QTY
123 4
1 102297125 Screw, M6-1.0x25.4, Thread-Forming, SEMS ... 4
2 105117601 Cord Reel, Retractable, Us 1
3 105117604 | Cord Reel, Retractable, Aus 1
4 105131501 Ob Charger Bracket, Ca700 ...... 1
5 105161901 Asm, Chgr, Batt, Onboard, Quiq 1
6 304 Screw, 1/4-20 X 1.0 Hex-Head Cap 1
7 332 | Washer, 1/4 Type A Narrow Flat 10
8 7847 Screw, 1/4-20 X 0.75 Hex-Head Cap 4
9 8233 Locknut, 1/4-20, Nylon Insert 5
2014 Carryall 510 and Carryall 710 LSV lllustrated Parts List Page 10-5



